2NPE EQUATIONS/INEQUATIONS

EXERCICE 1

Résoudre les équations suivantes:
a. 9A(x+2)* —(2x—2)° =0

b. (x—11)? +(33—-3x)(x+2) =0

c. (x=2)(2x+7)—(x>*—=4)=0
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d.

e. (—2x+4)* +(-2x+4)(5x-25)=0.
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EXERCICE 2
Résoudre les équations suivantes :

X+7 x-1_x+2
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d. (2x+3)*=36 e. (3x—4)(x-2)—(6x-8)(x-3)=0 f.
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EXERCICE 3
Résoudre les équations :

a) 2t—3(t+1)=%

b) 2(3—x)+3(x—%):5+x

9 (%a—3)(5—a):0

d) 5x2=25x
6 N2t+V3=2(t+7)+\3-72

b. 3(2x+4)-2x=14-2(1-2x)

feuille 8

c. 5x2-7x=0

2X+3
X_

0

f) (x-2)2=9

g (s—-7)(s+7)=0

h) x2—-7x+3=(x+3)2

i) 2(b+8)-3b+4=21-b
) x2-2x+1=4



